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Note:

1) All questions are compulsory
2) Each question carrics one mark
3) There will be no negative marking system
I. A) The first wind power project in Maharashtra is installed at Jamsande Devgadh)
Sindhudurg district.
BB) The biggest wind power project in Maharashtra [s planned to install at Shah Janpur in
Ahmednagar district.

Options
1) Statement Ais incorrect and Bis correct 2) statement B is incorrect and A is
correct 3) Both statements are correct 4) Both statements are wrong

2. Identify the incorrect statement about wheat crop
A. Itisawinter crop
B.  The land in rivers basin in Maharashtra is useful to this group
C. weight is a tropical crop
Options
1) Only A 2) OnlyB  3) OnlyC 4)Only Band C
3. When the first sugar factory in Ahmednagar district of Maharashtra in private sector
was slarted
1) 1915 2) 1919 3) 1920 4) 1925
4. Identify the incorrect statement
1) JNTP Port - East gateway of India
2) Ratnagiri Port - it is called Bhagwati Port
3) Nhava Seva - it is called Jawaharlal Nehru Port
4) Nhava Seva - itisatotally computerised Oort
5. Identify the correct statement
1) The first AaKashawani station was started at Delhi in 1927
2) in 1913 it is remamed as All India Radio
3) in 1936 it is remained as Akashvani
4) There were only 6 Akashvani centres at the time of independence in 1947
6. Match the correct pair -
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A Suvarnn Durg ) Ralgodd
3. Vijayadurp 2) Ratnnglel
C. Jonjlea 3 Shndhuduarg
A) Palphor
Options
A 1) ¢
1) 3 2 I
2) 2 3 I
3) 2 3 1
4H 4 2 I
7. Out ol the following district where the rocks of Vindhynyan perlods are found
1) Yavatmal - 2) Chandrapur 3) Sindhudurg 4) Ratnaglrl
8. What type of climate is of East Vidarbha
1) Equitable  2) Unequitable J) cold 1) hot

9. Identity the correct statement
A. Marathwada Vikas Mahamandal was established In 1967
B. Vidarbha Vikas Mahamandal was established in 1968
Options
1) Only Ais correet 2) only Bis correet  3) both are correct 4) both are wrong
10. Identify the incorreet statement
1) Dapoli town of Ratnagiri district is called it's Mahabaleshwar
2) Katkari tribe Is found in Ratnagiri
3) Red sand soil is found in Ratnagiri
4)  the main ports in Ratnagiri are Bankot, Harne, Dabhol, Bhagwatl
1. Which is the young population district of Maharashtra
1) Kolhapur  2) Punc 3) Jalgnon  4) Aurangabid
12. In which administrative region of Maharashtra there are large number of tehsils
1) Aurangabad 2) Nagpur  3) Pune 4) Konkan
13. A) Ullas river is the longest river in Konkan of length 122 km
B3) Ulhas Nadi is originated in rajmachi hills of Raigad district
Options
1) Only Aiscorrect  2) only Biscorreet  3) both ure wrong 4) both are correct
14. identily the incorrect statement
1) Rivers on Decean Plateau are flowingto West
2) Rivers in konkans are flowinglo Last
3) The rivers on Deccan Plateau are long and slow Mowing
4) The Konkan reverse ure short and slow lowing
I5. A) The iron Ores of Surjogarh Bhangarh Damkot and Padvi regions of Gadachiroli
Ftetot e of o ey B .
district are of good quality (& L\j‘%\)
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B) Iron Ores are there in shahuwadi and radhanagari district top Kolhapur
Options
1) Only A is correct 2) only B is correct  3) both are correct  4) both are wrong
16. The activity of “swachh Vari Sundar Vari nirmalwari Harit Vari” in 23rd June 2019 by
Savitribai Phule Pune Vidyapeeth created record in In Guinness book World Record by
distributing which plant

1) Neem 2) Mango 3) Tamarindus 4) Ashoka
17. Who was the first lady pilot in Navy in 2 nd December 2019
1) Bhavna Kant 2) Hina Jaiswal 3) Shivangi 4) none of these

18. Who is elected as a president of 100 th Akhil Bhartiya Marathi natya Sammelan helding
in 2020
1. Premanand Gajvi  2) Dr Jabbar Patel ~ 3) Father Fransis Dibrito  4) Dr
Aruna Dhere
19. Sce the below statements
A. Recently Jaipur town is declared as a world heritage
B. this was 43rd UNESCO conference
C. UNESCO declared 7 places as world heritage
D. Jaipur town has given this status for cultural place
Identify the correct statements
Options
1) onlyA,C,D 2) onlyA,D 3) AB,C,D 4) Only A, B
20. A) Radha Krishna Mathur is appointed as a first Lieutenant Governor of union territory
Jammu and Kashmir
B) Girish Chandra murmu is appointed as a first Lieutenant Governor of union territory
Ladakh
Identify the correct statement from above
Options
1) Only A2) only B 3) both Aand B 4) none of above
21. What was the name of loan waiver SCHEME FOR FARMER declared in winter sesson
by chief minister uddav Thakre
1) Chhatrapati Shahu Mahara jShetkari karj Mukti Yojana
2) Maharashtra Shetkari karj Mukti Yojana
3) Mahatma jyotirao fule karj mafi Yojana
4) None of the above
22. Which were the three banks merged in Bangkok Baroda in 1April 2019

A. Dena Bank  B) Vijaya Bank C) Bank of Baroda D) Canara Bank
Options

1) A, B,D 2)A,B,C 3)B,CD 4HACD
23. A) Justice Sharad bobade took the oath as the chief justice of Supreme Court on 18th
November 2019 \'ﬂ -
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B) He is the fourth person from Maharashtra to become Chief Justice
C) He also acted as a chief justice of Madhya Pradesh high court
D) He is the 46th chief justice
Select the correct statement from above
1) A,B,D 2)Only C,D 3)A,B,C  4) All of the above
24. Project eye is related to
1) radication of elders cataract
2) providing information of eye discases to Peoples of tribal region
3) asystem developed by ISRO
4) system that decides the speed of vehicles on super highway
5) Where G20 15 th summit is going to be held
1) India 2) Saudi Arabia 3) Osaka (Japan) 4) Argentina
6) The secretary of 15th finance commission is...
1) N.K.Singh 2) Arvind Mehta 3) Arun Shrivastav ~ 4) Ajay Mehta
7) World economic forum in 2019 has declared world competitive index of 141 countries.
which are the first three countries

A. Singapore, America, Hong Kong  2) Singapore, Japan, Australia 3) Japan,
Australia, Iran 4) America, China, Russia
8) Dronacharya Awardee and sports pairs are given. and out in correct pair
Person Sport
A. Sanjay Bhardwaj - Cricket
B. Marjban Patel - Hockey
C. Ranbeer Singh Khokhar - Kabaddi
D. Vimal Kumar - Badminton
Options
1) Only A 2) only B,C 3)A,B,C 4) None of above

9) Who is the runner up of 12th world cricket Cup
1) England 2) Australia  3) New Zealand 4) India
10) In which country the Cannes film festival during 14 to 25th May 2019 was held
1) France 2) England  3) Singapore 4) Beijing
11) The names of diseases causing from bacteria are given below.ldentify diseases not
causing from bacteria
A. Tuberculosis B)Malaria ~ C) Cholera D) Cancer E) jaundice F) Rabies
Options
1) C,D,E, F 2)A,B,C 3)Only E,F 4)D,E, F
12) From statements related to “force” select the incorrect statement

A. To express the force the direction and magnitude needed
B. Force is scalar quantity '
Options - o~ °*
1) Only A 2) OnlyC 3)A,B 4) None of these \\b'
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13) The S unit of potential difterence is...

1) Joule, Ampere2) Newton Volt 3) Volt, Ampere 4) Ampere Volt
14) The following statements who put forth the atomic theory

A. Theory was given in 1803

B. According to this theory matter is made up of atoms and atom is individual

C. Theall atoms of the clements are same and Atoms of different elements are different
and their atomic weight is also difTerent

Options
1) Thomson theory 2) Dalton's theory  3) Rutherford theory 4) Neil
Bohr theory
15) Carbohydrate do not contains
1) Carbon 2) hydrogen 3) Oxygen  4) Nitrogen
16) Match the correct pair
I section 11 Section
A. Wood 1) Thousand years
B. Plastic 2) 1 Year
C. Cotton fabric 3) 110 2 week
D. Vegetable 4) 10 to 15 years
5) 2 to 3 months
Options
A B C D
1) 4 1 2 3
2) 5 1 3 2
3) 21 4 5

4) 5 1 2 3
17) From below three rules of reflection which is not correct
A. Incident rays and reflected rays are opposite from normal
B. incident rays reflected rays and normal are in one plane
C. The angle of reflected ray and incident ray are not of same measure

Options
1) Only A 2) only B 3) only C 4) none of above
18) How many calories of energy 1S obtained from one gram of fat
1) 4 kilo calorie 2) 7 kilo calori ¢ 3) 8 kilo calorie 4) 9 kilo

calorie
19) See the following statements
A. Sound waves comes under transverse type
B. The speed of sound is very high in solid
C. For propagation of sound the medium should be particle less
D. In sound production is vibration of particles
Select the correct statement / statenients
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1) OnlyB,D 2) onlyB,C,D 3)Only A, B 4) All of above
20) Some acids are weak and some acids are strong, from the following options identify the
weak acids
A. Sulfuric acid B) hydrochloric acid C) nitric acid
Options
1) OnlyA 2) onlyB 3)A,B,C 4) onc of above
21) From which following option one can get the cell body information
1) cellmembrane  2) cell wall 3) transport a protein 4) Golgi complex
22) If the density of water is 1000 Kg/m3 and that of iron is 785 Kg/m3, What will be the
relative density of iron

1) 7.852)78.5 3)9.75 4)17.8
23) A) Fishes B) Mammals C) amphibians D) Aves E) reptiles F) Sea
Animals

Above class of animal comes under which phylum
1) Mollusca 2) cordata  3) Hemicordata 4) Orthopoda
24) The bones present in the body are

A, Malleus B) Humerus C) Stapes D) Femur E) Incus
Which of the bones are present in ear
1) A,C,D 2)A,B,C 3)B,C,D 4)C,D,E

25) Following characteristics are related to which planet
A. longest planet visible with naked eye
B. There are rings around the planet
C. Titan is the satellite of this planet
D. The mass of the planet is 95 times greater than earth
Options
1) Neptune 2) Saturn 3) Uranus  4) Venus
26) A) In 1963 pk Sawant was the chief minister of caretaker government
B) Vijayalakshmi Pandit was the governor of Maharashtra in 1963
C) Devendra Fadanvis was a chief minister of caretaker government in 2019
D) Viraj Chauhan was a chief minister of caretaker government in 2014
Select the correct option
1) onlyC 2) A,B,C 3)A,B 4)B, C
27) In 21st century which were the states where president rule was imposed due to not
forming government
1) Utar Pradesh, Jammu and Kashmir, Bihar
2) Bihar, Jammu and Kashmir, Maharashtra, Tamilnadu
3) Maharashtra, Tamilnadu, Andhra Pradesh
4)Maharashtra, Rajasthan, Ultar Pradesh
28) The subjects on which there is a need of uniform law at the centre But not essential are
placed in which list




1) OnlyB,D 2) onlyB,C,D 3)Only A, B 4) All of above

20) Some acids are weak and some acids are strong, from the following options identify the
weak acids

A. Sulfuric acid B) hydrochloric acid C) nitric acid
Options
1) OnlyA 2) onlyB J)A,B,C 4) onc of above
21) From which following option one can get the cell body information
1) cellmembrane  2) cell wall 3) transport a protein 4) Golgi complex

22) If the density of water is 1000 Kg/m3 and that of iron is 785 Kg/m3, What will be the
relative density of iron

1) 7.852)78.5 3)9.75 4)17.8
23) A) Fishes B) Mammals C) amphibians D) Aves E) reptiles F) Sea
Animals

Above class of animal comes under which phylum

1) Mollusca 2) cordata  3) Hemicordata 4) Orthopoda
24) The bones present in the body are

A. Malleus B) Humerus C) Stapes D) Femur E) Incus
Which of the bones are present in ear
1) A,C,D 2)A,B,C 3)B,C,D 4)C,D,E

25) Following characteristics are related to which planet
A. longest planet visible with naked eye
B. There are rings around the planet
C. Titan is the satellite of this planet
D. The mass of the planet is 95 times greater than earth
Options
1) Neptune 2) Saturn 3) Uranus  4) Venus
26) A) In 1963 pk Sawant was the chief minister of caretaker government
B) Vijayalakshmi Pandit was the governor of Maharashtra in 1963
C) Devendra Fadanvis was a chief minister of caretaker government in 2019
D) Viraj Chauhan was a chief minister of caretaker government in 2014
Select the correct option
1) onlyC 2) A, B,C 3)A,B 4)B,C
27) In 21st century which were the states where president rule was imposed due to not
forming government
1) Uttar Pradesh, Jammu and Kashmir, Bihar
2) Bihar, Jammu and Kashmir, Maharashtra, Tamilnadu
3) Maharashtra, Tamilnadu, Andhra Pradesh
4)Maharashtra, Rajasthan, Uttar Pradesh
28) The subjects on which there is a need of uniform law at the centre But not essential are
placed in which list o
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1) Union list 2) concurrent list 3) state List  4) residual subject
29) In which of the following Union territory president cannot make law for peace and

Administration

1) Delhi, 2)Chandigarh 3) Pondicherry 4) All of these
30) who appoints the Chiel Minister of Delhi

1) Licutenant Governor 2) President  3) Governor 4) Parliament
31) Which article is related to both internal and external emergency

1) Article 355 2) Article 356 3) Article 358 4) Article 359

32) Match the correct pair of Panchayat Raj committecs in Maharashtra and their
cstablishiment year

Committee Year
A. Vasantrao Naik 1) 1984
B. L.N. Bongirwar 2) 1970
C. Baburao Kale 3) 1980
D. P. B. Patil 4) 1960
Options
A B C D
11 2 3 4
2) 4 2 3 1
3) 2 3 4 1
4) 1 4 2 3
33) Match the correct pair
I Section 11 Section
A. Maharashtra 1) Mandal Praja Parishad
B. Andhra Pradesh 2) Taluka Panchayat
C. Gujarat 3) Mandal panchayat
D. Karnatak 4) Panchayat Samiti
Options
A B C D
) 4 3 1 2
2) 4 3 2 1
3) 4 2 1 3
4) 4 1 2 3

34) Who appoints special officer for linguistic minority society
1) governor of a state2) president 3) Prime Minister ~ 4) home minister
35) Out of the following was audit is done by a private auditor
A. LIC 2) SBI 3) RBI 4) FCI
Options
1)Only A,B 2) OnlyB,C,D 3)Only A,C,D 4) All above
36) Match the pair
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A. 371-C 1) Karnataka
B. 371-F 2) Arunachal Pradesh
C. 371 1 3) Sikkim
D. 371 4) Manipur
Options
A B C D
1) 3 4 2 1
2) 1 2 3 4
3) 4 2 3 |
4) 4 3 2 |

37) A) Create the variation income of* rural poor family
B) Fulfill the service related aspirations of rural youth
These are the objects of which scheme
1) Pradhanmantri Kaushal Vikas Yojana
2) Dindayal Upadhyay Gramin Kaushalya Yojana
3) Prasad Mukharji urban Abhiyan
4) None of the above
38) From the following names of cities select the correct option of cities having largest and
smallest population
A. Chennai 2) Bruhan Mumbai 3) Kolkata  4) Delhi
Options
1) AC 2)D, B 3)A,B 4)A,D
39) A) The headquarter of this organisationis at Washington D. C.
B) Membership of this organisation is open
C) Now 189 Countries are the members of this organisation
D) Loan can be given to a member country
Identify the organisation
1) World Bank 2) Asian Development Bank 3) International Monetary Fund
4) International Finance Corporation
40) Comptroller and Auditor General is called as ear and eyes of which committee
1) Public account committee 2) Public estimate committee 3) Loan Drafting
committee 4) none of these
41) From the following gender Development Index statements Select the correct statement
A. The gender Development Index is announced by United Nation development program
B. The report is started from 2014
C. Tocalculate the gender Development Index the parameters of Human Development
Index are considered
Options
1) OnlyA,C 2) only B 3)Only A 4) all of the above

o
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42) If the density of water is 1000 Kg/m3 and that of iron is 785 Kg/m3, What will be the

relative density of iron

1) 7.852)78.5 3)9.75 4)17.8
43) A) Fishes B) Mammals C) amphibians D) Aves E) reptiles  F) Sca
Animals

Above class of animal comes under which phylum
1) Mollusca 2) cordata  3) Hemicordata 4) Orthopoda

44) The bones present in the body are

A. Malleus B) Humerus C) Stapes D) Femur E) Incus

Which of the bones are present in ear
1) A,C,D 2)A,B,C 3)B,C, D 4HC,D,E

45) Following characteristics are related to which planet

A. longest planet visible with naked eye

B. There are rings around the planet

C. Titan is the satellite of this planet

D. The mass of the planet is 95 times greater than earth

Options
1) Neptune 2) Saturn 3) Uranus  4) Venus

46) A) In 1963 pk Sawant was the chief minister of caretaker government

B) Vijayalakshmi Pandit was the governor of Maharashtra in 1963
C) Devendra Fadanvis was a chief minister of caretaker government in 2019
D) Viraj Chauhan was a chief minister of caretaker government in 2014

Select the correct option
1) onlyC 2) A, B,C 3)A,B 4)B,C

47)In 21st century which were the states where president rule was imposed due to not

forming government
1) Uttar Pradesh, Jammu and Kashmir, Bihar

2) Bihar, Jammu and Kashmir, Maharashtra, Tamilnadu
3) Mabharashtra, Tamilnadu, Andhra Pradesh
4) Mabharashtra, Rajasthan, Uttar Pradesh
48) The subjects on which there is a need of uniform law at the centre But not essential are
placed in which list
1) Union list 2) concurrent [ist 3) state List 4) residual subject
49) In which of the following Union territory president cannot make law for peace and
Administration

1) Delhi, 2)Chandigarh 3) Pondicherry 4) All of these
50) who appoints the Chief Minister of Delhi

1) Lieutenant Governor 2) president 3) governor 4) parliament
51) Which article is related to both internal and external emergency

1) Article 355 2) Article 356 3) Article 358 4) Article 359

52) Match the correct pair of Panchayat Raj committees in Maharashtra and their

establishment year
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Committee year

A. Vasantrao Naik 1) 1984
B. L.N. Bongirwar 2) 1970
C. Baburao Kale 3) 1980
D. P.B. Patil 4) 1960
Options
A B C D
N1 2 3 4
2) 4 2 3 1
3) 2 3 4 1
4) 1 4 2 3
53) match The correct pair
[ Section I Section
A. Maharashtra 1) Mandal Praja Parishad
B. Andhra Pradesh 2) Taluka Panchayat
C. Gujarat 3) Mandal panchayat
D. Karnatak 4) Panchayat Samiti
Options .
A B C D
1) 4 3 ] 2
2) 4 3 2 1
3) 4 2 1 3

4) 4 1 2 3
54) Who appoints special officer for linguistic minority society

1) Governor of a state 2) President 3) Prime Minister 4) Home minister
55) Out of the following was audit is done by a private auditor

A. LIC 2) SBI 3) RBI 4) FCI
Options

1) OnlyA,B 2) OnlyB,C,D 3)Only A,C,D 4) All above
56) Match the pair

ASection B Section
A. 371-C 1) Karnataka
B. 371 -F 2) Arunachal Pradesh
C. 371H 3) Sikkim
D. 3711 4) Manipur
Options
A B C D
1) 3 4 2 1
2) 1 2 3 4
3) 4 2 3 1
4) 4 3 2 1

57) A) Create the variation income of rural poor family

B) Fulfill the service related aspirations of rural youth
These are the objects of which scheme
1) Pradhanmantri Kaushal Vikas Yojana
2) Dindayal Upadhyay Gramin Kaushalya Yojana
3) Prasad Mukharji urban Abhiyan
4) None of the above
58) From the following names of cities select the correct option of cities having largest and
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smallest population
A. Chennai  2) Bruhan Mumbai  3) Kolkata  4) Delhi
Options
1) AC 2)D, B HAB 4 A,D
59) A) The headquarter of this organisationis at Washington D. C.,
B) Membership of this organisation is open
C) Now 189 Countrics are the members of this organisation
D) Loan can be given to a member country
lIdentify the orpanisation
1) World Bank 2) Asian Development Bank 3) International Monetary Fund
4) International Finance Corporation
60) Comptroller and Auditor General is called as car and eyes of which committee

1. Public account committee  2) Public estimate committee 3) Loan Drafting
committece  4) none of these
61) From the following gender Development Index statements Select the correct statement

A. The gender Development Index is announced by United Nation development program
B. The report is started from 2014
C. To calculate the gender Development Index the parameters of Human Development
Index are considered
Options
1) OnlyA,C 2) only B 3)Only A 4) all of the above
63) Gini index measures which of the following social problem
1) disparity in poverty 2) Inequality in income 3) Unemployment
in country 4) both land 3 '
64)In one year how many days employment is assured in Mahatma Gandhi rashtriy
Gramin Rojgar hami Yojana
2) 100 2) 120 3) 150 4) 200

65) Match the correct pair

I Section (State) [l Section (gender ratio)
A. Goa 1) 1084
B. Nagaland 2) 931
C. Tamilnadu 3)973
D. Kerala 4) 996

A B & D

1) 2 3 4 1

2) 4 2 3 ]

3) 3 2 B 1

4) 2 4 3 1
67) On which day new economic policy was adopted

1) 24 July 1991 2) 21stjune 1990  3) 17 Julyl1991 4) 21st July 1991

68) A) Appropriation bill is a finance bill
B) The bill is placed in in Lok Sabha

C) The provision of appropriation bill is made under article 114 )
[ 4
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Option
1) Only A, B is correct and C 1S incorrect
2)Only B is correct and A, C IS incorrect
3) A, B, Cis correct
4)A, B, C is incorrect
69) Identify the descending sequence in population of districts
A. Washim B) Sindhudurg C) Gadachiroli D) Hingoli
Options
1) B,C,A,D 2)B,C,D,A 3)A,B,C,D 4) 4)D,C,B, A
70) When regional rural bank was established in India
1) 2 October 1975  2) 15 November 1972 3) 2 October 1970 4) 2
January 1970
71) Amrit Bazar Patrika of Bengal after the detention of whom declared as Grand person
with patriotism in 1879
1) Lokmanya Tilak 2) Vasudev Balwant Fadke 3) Vinayak Damodar Savarkar
4) Rango Bapuji Gupte
72) Arrange the following events as per sequence
A. Non-cooperation movement B) with India Agetation C) Civil
disobedience D) Pune pact
Options
1) A,C,D,B 2)A,C,B,D 3)A,B,C,D 4A,D,CB
73) Who was the president of Maharashtra ekikaran Parishad and in Mumbai on 20th July
1946
1) Keshavraoao Jedhe 2) shankarrao Dev  3) G. T. Mandkholkar
4) 4) ramrav Deshmukh
74) what was the name of Swami Ramanand Tirth, leader of Hyderabad liberation
1) Venkatesh benadikar ~ 2) achyuthra Deshpande 3) Govind Bhai Shroff
4) VenkateshKhedgikar
75) Mahatma Jyotiba fule ine 1874 founded the branch of satyashodhak Samaj in Mumbai on
the request of....

1) Megha ji Lokhande 2) Krishnarao Bhalekar 3) R. P. Paranjape
4) Dinkar Karve
76) A Dnyanprakash 2) Dyanoday C) Nibandhmala D) Arunoday E) Indu
Prakash

Arranged above periodicals according to time
1) B,A,D,EF 2)A,C,D,B,E,F 3)CADB,E,F 4)FEDAB,C
77) Lieutenant Kennedy was defeated by Bhills under the leadership of...
1) Umaji Naik 2) Khwaja Naik 3) Bheema Naik 4) Kazi Sing
78) what is the correct statement about Gopal Ganesh Agarkar
A. Agile Nationalist was his characteristic




B. “ Kavi, Kavyaand kavyarati’ Was his essay
C. he done the job of clerk in Court for sometime
D. he translated the Hamlct as a “Vikar vilasit’ in Marathi

Options
1) B,C,D DA CD 3)ABC  49ABCD
79) Which book of Thomas pen influences Mahatma Phule
A. Rights of a man 2) age of reason 3) Commen of man  4) justice and
humanity
Options

1) OnlyA 2)onlyA,C 3)A,C,D 4)A,B,C,D
80) Where the colonies were established in India by the Dutch
A. Kochin BNagpattam CKarikal D Kasim BazarE Balasore  F Surat
Options
1) OnlyA,C,D,E 2)OnlyA,B,D 3)B,C,D,E, F 4) All of the above
81) In a Round table conference what Dr Babasaheb Ambedkar suggested to call Ashprush
in memorandum submitted to it
A. Mabhar B) HarijanPige c) Protestant Hindu D) Nav Baudha
Options
1) B,C,D 2) Only C 3)B,E 4) Only D
82) In whichprison wasudev Balwant Fadke was kept by Britishers
2) Mandale  2) Edan 3) Thane 4) Andaman
83) From the following statements by the social reformer
A. Is birth place is Pen in Raigarh district
B. Balshastri jambhekar was his friend
C. he started the weekly’Prabhakar’
D. he wrote the articles on social issues in Dnyan Darshan
Options
1) Bhau Mahajan Kunte 2) G. G. Agarkar 3) Bhau Daji Lad
4) Lokhitwadi
84) Elphinstan wants to implement which revenue method
1) Maujewari method 2) Mahalwari method 3) Kayamdhara Method
4) Rayatwari Method
85) Out of the following person who done the work on ‘Economic Nationalism’
A. Dadabhai Nauroji B Bhaskar Tarkhadkar C bahumanjan
D. R.C. Datt E) Nana Shankar Seth

Options
1) Allexcept C 2) all except E 3) all except B 4) all except A
86) In a coding language if PROJECTOR is written as ORPCEJROT then how can be
PERTROGNI CAN BE WRITTEN IS SAME LANGUAGE ‘
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2)REPORTING 2) REPORTERS 3) PROPORTION  4)
RESTURANT
87) If the light is called as dark, dark is called as green, s colled as blue, blue to red, rcad to
White and let's call yellow then what is the colour of blood

3) White 2) red 3) dark 4) yellow
$8) VSZ, TQX, ROV, ...
4)PTM 2) PKT 3) PMT 4) T™MDP

89) In girls one line Sncha is thirteen fron lefland Asha is sixtcen from right. If the places of
Sncha and Asha are interchanged then Asha is 18 from right Then what is the number of
Sncha from left

5)15th 2) 31st 3) 16th 4) 14th
90) Complete the sequence 1, 4, 9, 25,..
6)36  2)49 3)64 4)69

91) Somestatements and conclusions are given below. considering statement as a correct
identify the correct conclusion

Statement: all pens are papers

Some pens are {ruits

Conclusion: A) some papers are pens

B) some fruits are not papers
1) only Conclusion A is correct
2) only conclusion Bis correct
3) both conclusions are correct
4) both conclusions are wrong

92) The 300 persons perform a job in 16 days. % part of the same job in 15 days will be

completed by how much person
1) 64 2) 15 3)60 4)74

93)A Is wife of B B and C is a sister of A. D is other of C and E is son of D. What is
relation between E and B
1) Brother  2) brother in law 3) cousin 4) Father in law
94) From thebelowdiagram which is the opposite colour to yellow

NG

1) Black 2) Indigo 3) blue 4) yellow
95) From the below sequence find out in appropriate digit
4,2,3,7.5,33,7,5, 118, 125, 649, 6875
1) 118.125" 2)3  3)33 4)5
96) In thefollowing alphabet series What is the number coming in series
Bac - babacc - ab - ccbabacch - baccba
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1) baba 2) cbba 3) bbaa 4) cbaa
97) Deva is facing towards west. He first turn 90 degree in clockwise direction and then 135
degree in anticlockwise direction. His face will be in which direction

1) Southwest 2) East 3) west 4) South east
98) If 53/31=2, 45/27=1, 69/32=3 then 97/26=7
1 22 3)3 4) 4

99) In a good language give and take is written as 135, water and milk as 574 and give him
milk as 149 then How take can be written
DS 23 31 44
100) IfP is greater than Q, R is less than P, S is greater than T but smaller than Q
Then who is greater among all
1) P 2)S 3)R 4)Cannot be predicted
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J. K. Jadhav Arts, Commerce and Science College, Vaijapur
Competitive Examination

Test Paper
Name of student ....ovvvvvveviierernnnnn.
Date: Total Marks:
Time: Marks Obtained:

Note:
1) All questions are compulsory
2) Each question carries one mark
3) There will be no negative marking system
1. Read the following sentences
a) Died by shift software tissue cancer
b) Opposition member of Rajya Sabha during 2009-14
c) Active as a information and broadcasting state minister during 1999-2000
These statements are related to
1) Arun Jaitley 2) Sushma Swaraj 3) T. N. Session 4) Manohar Parrikar
2. .......is appointed as the president of Asian Development Bank
1) Masatsugu  2) Tehiko Naka Ho  3) Taro Aso  4) Harahiko Kurudo
3. Who who received 2019 Rajiv Gandhi Khel Ratna Puraskar

1) Bajrang Puniya 2) Deepa Malik ~  3) Ravindra Jadeja Ajay
4) Thakur Swapna Burman
4.Manohar Parikar had taken B. E. Degree from Mumbai in ........ subject.

1) Astrology 2) Metallurgy  3) Chemistry 4) Mineralogy
5.1dentify the incorrect statement about Climate change performance index 2020
1) India is included first time at the 10th position
2) Sweden is at the first position
3) America is the last position
4) Saudi Arabia was at the last position in the last year year
6.In which state the president rule is not imposed yet \
1) Chhattisgarh 2)Telangana 3) 1&2 4) Manipur
7.For whom Sulabh nivadnuk slogan use declared for which voters
1) Divyang matdaar 2)Mahila matdaar 3)Tribal voters
4) Voter voting for first time
8. Who was the chief minister for a very short period
1) B.S. Yediurapa 2) Devendra fadnavis 3) Om Prakash Chautala
4) Jagadambika Pal
9. Toni An Sinh Miss World 2019 belongs to the country .....
1) South Africa 2) London  3)Jamaica  4) France

P
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10. Sclect the correct statement about Gyanpith Puraskar
1) Award started in 1961
2) Firstin Literature
3) Seven ladies are the recipient of the award
4) Itis given for languages in 8 th schedule of constitution
11. Who wrote the novel “Jungle khanijacha Shodh”
1) Salim mulla
2) Rajashreec Karpurkar
3) Randhir Shinde
4) Ganesh avate
12. Mera India program is implemented for .....
1) Garbage free India
2) To increase affinity Among Jammu Kashmir civilians for India
3) Elimination of malaria
4) Decrease malnutrition in India
13. Nationwide 5G mobile network-was firstly inaugurated by.....
1) America
2) China
3) South Korea
4) Japan
14. Select the correct statement about GOAL program
1) For tribal ladies in India
2) Program started by Facebook
3) Statement I and 2 is correct
4) Statement I and 2 is wrong
15. Select the incorrect statement about Atal Aahar scheme
1) Itis started by Maharashtra state from 7 March 2019
2) It will provide quality food
3) The in beneficiaries of the scheme are labours
4) None of the above
16. Match the constitutional speciality and their sources

A) single citizen 1) British constitution
B) Fundamental right 2) France
C) Freedom equality and fraternity ~ 3) Canadian constitution
D) Remaining rights 4) American constitution
A B C D
1)4 3 1 2
2) 1 4 2 3
3)3 1 4 2
4)1 3 4 2 s -
fp |
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17. Read the following statements
A. Dr Rajendra Prasad was the president of Constituent assembly
B. Maulana Abdul Kalam Azad was the member of constituent assembly
Options
1. Biscorrect 2) Aiscorrect  3) Both are correct D) Both are incorrect
18. 18. Arrange the sequence of freedoms in preamble
1) Expression, thought, beliefs, faith, worship
2) Thought, expression, belicfs, faith, worship
3) Expression, thought, beliefs, worship, faith
4) Thought, expression, worship, beliefs, faith,
19. 19. Which of the following provisions are not available while creating the states in India
A) Creation of new state by combining Two or more States
B) Consent of status assembly to change the name or boundaries of state
C) In state can be converted into union union territory
D) Central Government can create a new state or union territory by taking opinion of
stale government.
Options _
)C,D 2)B,C,D, 3)A,D 4)B,D
20. 20. Read the following sentences ,
A. The special powers of High Court to issue orders under article 226 is optional and
can be denied
B. Habeas Corpus writ Can be implemented to government officers and also a private
person '
Options
1. Only A 2) bothaandb are correct 3)only B 4) both A and B are incorrect
21. 21. Match the pairs

Person Portfolio
a. DrJohn Mathai 1) law
b. C. H. Bhabha 2) Industry and supply
c. AsifAli 3) Instruction, mining and energy
d. Joginder Nath Mandal 4) Railway and transport
Options
A B C D
1) 1 2 3 4
2) 2 4 3 1
3) 2 3 4 1
4) 1 3 4 2
22.22. Identify the ladies participated in constituent assembly
A. Anl macariny B) Renuka Rai C) Malti Chaudhari D) Leela Roy
E) Ani Besant F) Begum Rasool ~ G) Nalini Ranjan Sarkar

\
s,
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Options
1. AllexceptEand F 2) all except A and D 3) All Except F & G 4) All except E
and G
23.23. Sclect the incorrect option
A. Dr Rajendra Prasad was the president when constituent assembly was working as
a legislature
B. Constituent assembly work as a legislature fistly in 29th August 1947
C. When constituent assembly was working as a legislature its members where 229
Options
l. A&LDB DA B&C J)B&C 4) All of the above
24. 24, As per article 169 of constitution assembly
a) Constitution of Legislative Assembly
b) Constitution of Legislative Council
c) Abolition or creation of Legislative Council in state
d) all options are related to above article
25. 25. Match the pairs of States and their classification

A.Part A 1) Commissioners state
B. Part B 2) Andaman and Nicobar Islands
C.Pann C 3) Governors state
D. Part D 4) Central Governors state
Options
A B C D

1) 2 | 4 3

2) 3 4 1 2

3) 3 4 2 1

4) 2 | 3 4

26. 26. As per amendment of 2015 in citizenship act what is the provision
1. OCC ( Overseas citizen of India card holder)
2. OCI ( Overseas citizen of India )
3. PIO ( person of Indian Origin )
4. none of the above

27.27 As per the article 14 of equality before law is applicable to
A. President B) Chancellor C) Foreigner democrat D) Ambassador

Options
I. onlyAandb 2) only A,BandD 3) Not applicable to A and B 4) Not applicable

to all above
8. 28. Out of the following which is not the source of heat

A. chemical energy B) sunC) Earth D) electrical energy E) Air

F) atomic energy
1) AE 2) A,C,E  3) only A, C,E,F  4)None of the above

« c !
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30. 30. Select the correct options
A. astronauts on moon uscs hand held mobile radiphones for conversation
B. There is no need of medium for specific waves used in mobile phone
Options
1. Both statements are correct and B be correctly explains A
2. both statements are correct and there is no relation between A and B
3. Dboth statements are incorrect
4, statement is correct and statement B is incorrect
31.31. When a vehicle moving in a straight line takes a turn, passengers are inclined in
opposite
direction. This is example of
1. speed inertia 2) Direction inertia  3) innersia in stable state  4) Man of the
above
32. 32. Following are not the examples of atmospheric dispersion
A. twinkling of stars ~ B) early sunrise C) delayed sunset D) rainbow

Options
1) all except D 2) only A 3) only beand see  4) onlyD

33.. Out of the following which is not the example of photoroplic movement

A.Cockroach  B) earthworm C) euglena

Options

1) Only A 2) only A& B 3) onlyC 4) none of the above

34. Deficiency of Vitamin D3 causes '

A. Dermatitis  B) Diarrhoea C) Dementia D) Diphtheria

Options

nNB,D C 2)A,CD 3)A,B,D 4)A,B,C
35. See the statements of Presbyopia
A) Distant objects are not visible B) Nearer objects are not visible
C) Concave lens is used for this
Options
1) onlyAand C
above
36. Haber’s process is used for
1) For separation of Oxygen and hydrogen from water
2) To collect Ammonia from air

3) To prevent vaporization of water

4) Obtaining various substances from Petroleum
d white blood corpuscles, body cells become

2) only A and D 3) ABand C 4) None of the

37. From ....the secretion of macrophase an

defensive
1. Progesterone 2) Testeron 3) Interferon 4) Karmin

38. select the correct statement about atomic mass

Frimsis)
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I atomic mass means only the total number of protons
2. the combination of protons and neutrons in atom
3. only the neutrons in alom
4. None of the above
39. In the purification of Petroleum which of the following is uscd
I, French Chalk 2) white vitriol 3) sol ammoniac 4) Caustic soda
40. which of the following is the example of vibrational motion
. running train 2) moment of gascous molecules  3) windmill 4) sewing
machine
41. What eight will be acquired by a ball thrown in space with a speed of 19.6 M per
second
1. 19.6m2) 38.1 m HN7.Im 4)27.10m
42. Scc the statement and sclect correct one
A.CRR and SLR both funds are compulsory for bank
B. Due to CRR there is always decrease patnirmiti in bank
C. Banks are allowed to keepSLR
D.SLR funds are used to give loans

Options
1. A,C,D 2)A,C 3)B,CD 4) all of the above
43. The main objective of the eight five year plan was
1. Human Development 2) energy 3) transport 4) sustainable
development

44, Sce the statements about the NABARD
E. Nabard plates the dual role '
F. Nabard was founded by Chakravarti Samiti
G. Nabard do not inspect any bank
H. Nabard do not provide funds for period of | year

Which statement is incorrect
1. A,C,D 2) Only D OnlyB,C,D 4) None of these

45, Higher level executive director, officers, Universities are incorporated in which sector
1. 3rdsector  2) 4sector 3) 5sector  4) None of these

46. Match the following

Section ( person) Section (GDP)
A.R.C. Desai 117
B. Findle Siras 2) 80
C.Dr. V.K.R. V. Rao 3)72
D. Wilam Digbi 4) 78

A B C D
1) 4 2 3 |

2) 3 2 4 | \;’ o
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3) 1 4 2 3
4) 3 1 4
47. Match the following

A Scction (Person) B Section (GDP)
A. R.C. Desai 117
B. Findle Siras 2) 80
C. Dr. V.K.R. V. Rao HN2
D. Wilam Digbi 4)78
A B C D
1) 4 2 3 1
2) 3 2 4 1
3) 1 4 2 3
4) 3 1 4 2

48. Which of the following person can be included in Niti aayogs governing Council
a) members of Niti Aayog
b) vice president of Niti Aayog
¢) chief ministers of state _
d) Vicechancellor of union territory
e) United members of Niti Aayog
Options
. OnlyB&C 2)OnlyA,B 3)A,B,C,D 4)A,B,C,D, E
49. From the following statement select the appropriate option about currency
1) Currency approved by RBI is called statutory currency
2) Demand deposits are also statutory currency
3) By declining the payment by cheque one can insis
4) All above statements are correct
50. RBI has given some methods of measuring currenc
1) MO - reserve money / monetary stock
2) MI - narrow money
3) M2 - broad money
Options
1) Tand3 2) 1and 2 3) only 3
51. Who was the Finance Minister the time of 199

1) Manmohan Singh 2) Narasimha Rao 3)P
52. See the following statements

t for cash currency

y supply. select in appropriate one

4) All are correct
economic reforms
. Chidambaram 4) none of those

a) SEZ establishment was the part of fi

ve year year of 2000
b) Kandla from Gujarat was the fj

rst SEZ in Asia
¢) Minimum and maximum area target was decided

d) The power to decide minimum and m
Select the incorrect option

as per SEZ Act 2005
aximum area for SEZ, was given to States

Lo o !
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3) I 1 2 3

4) 3 I 4 2
47, Mateh the lollowing

A Scetion (Person) I3 Section (GDP)
A, R.C, Desai 117
B. Findle Siras 2) 80
C. Dr. V.K. R. V. Rno »72
D. Wilam Digbi 4) 78
A }] C D
1) 4 2 3 |
2) 3 2 4 |
3) I 4 2 3

4) 3 I 4 2
48. Which of the following person can be included in Niti aayogs governing Council
a) members of Niti Aayog
b) vice president of Niti Aayog
¢) chiel ministers of state
d) Vicechancellor of union territory
¢) United members of Niti Aayog
Options
I. OnlyB&C 2)OnlyA,B 3)A,B,C,D 4)A,B,C D, E
49. From the following statement select the appropriate option about currency
1) Currency approved by RBI is called statutory currency
2)  Demand deposits are also statutory currency
3) By declining the payment by cheque one can insist for cash currency
4) All above statements are correct
50. RBI has given some methods of measuring currency supply. sclect in appropriate one
I) MO - rescrve money / monetary stock
2) MI - narrow money
3) M2 - broad money
Options
1) Tand3 2) land 2 3) only3 4) All are correct
51. Who was the Finance Minister the time of 1991 economic refornis
1) Manmohan Singh 2) Narasimha Rao 3) P. Chidambaram 4) none of those
52. See the following statements
a)  SEZ establishment was the part of five year year of 2000
b) Kandla from Gujarat was the first SEZ in Asia
¢) Minimum and maximum arca target was decided as per SEZ Act 2005
d) The power to decide minimum and maximum area for SEZ was given to States
Select the incorrect option

p
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1) allare correct 2) all except a3) all except b4) all except aand ¢
53. The correct statement about current devaluation
A. Ducto devaluation export decreases

B. Devaluation favours import
Options

1. Aisand B incorrect 2) B iscorrect and A incorrect 3) both are
incorrect 4) both are correct

54. See the statements of public account committee
a) Committee was formed from Mountford recommendations
b) There are 24 members in the committee
¢) President is nominated from the members by Lok Sabha Speaker
d) Itis accepted that the president Should become opposition party
Select the in appropriate option

1)Onlyaandb 2)onlyA,B,C - 3)onlyBandC 4)only B
55. Select correct statement

1. budget is presented by the Finance Minister
2. itis necessary to take voting on the expenditure of ministers payment and
allowances for the next year
3. no discussion on the Sanchit Nidhi
4. none of the above
56. a) Birth place of Mahatma Phule is Pune
b) his mother's name was Chimanabai
c) Started the school for untouchables in 1852

¢) Presented the farmers problem in the function of Victoria queen in attire of
Farmer
Select the inappropriate statement
1. B,C,D 2) Only C 3)A,B,D 4)OnlyD
57. Lucknow Pact in 1916 was about
1) To decrease the distance between radicals and moderest
2) To oppose the policies of revolutionaries
3) to bring together the National Congress and radicalist
4) None of the above

58. See the statements about fasting of Professor Bhansali in 1942
a) He was residing in Sevagram

b) TFasting was done for getting the justice to Chimur ladies
¢) He done the fasting for 63 days
d) More than hundred newspapers ceased there work in support of fasting on 6th
January 1943
Identify the incorrect statement

l. Onlya 2) onlycandd 3)b,c,d 4) none of those
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- Who was the founder of new letter Dnyanprabodhini published from Lahore in hindi
L. Slr Dayal Singh Majidhiya 2) Navin Chandra Roy 3) Ramanand
Chatarji  4) Shrinivas Shastri
-“Vandemataram™ Student agitation was supported in which congress session
1. Tripuri 2) Hyderabad 3) Nagpur  4) Haripur

- Who was the president of committee sent by British government in 1919 to give the
political rights

60

6

1))V. R. Shinde 2) Lord Southbaro ~ 3) Dr. Babasaheb Ambedkar 4) Lord
Kaythan
- The nonviolence and non-cooperation movement was started by Mahatma Gandhi
on lAugust 1920. In Which session the plan of this movement was approved.
1. Nagpur 2) Kolkata 3) Mumbai 4) None of those
63. Identify the institution from objectives given in below options
a) To prepare the volunteers for the movements
b) To establish swarajya .
¢) toserve the nationselflessly
d) toincrease political awareness
Options
1. Bharat Sevak Samaj 2) satyashodhak Samaj 3) paramhans Sabha 4) Harijan
Sevak Sangh
64. The following statements are related to which social reformer
a) His a surname was ‘Mule’
b) Accepted the Christianity in Belgaum
c) He was influenced by Dnanoday, adnyanprakash and Prabhakar
d) He wrote several books on Christianity
Options
1) Ani Bezant 2) Pandita Ramabai 3) Babapadam ji 4) None of those
65. Who was the first governor general of Bengal of East India Company
1. Waren Hestings 2) Lord Hestings 3) Lord Cornwallis
66. Below statement gives the information of which newspaper
a) This newspaper was started on 4th January 1864 in English
b) from Ist July 1866 it is published in Marathi also
c¢) High Court decisions were published newspaper

d) this newspaper was a supported by Sanatani Vichar in Rakhamabai case
Options

4) none of those

1) Native opinion 2) Arunoday 3) Dnyansindhu 4) Nibandham
67. In which city during the period of 1885 to 1947 the congress sessions were held?
1) Mumbai 2) Madras  3) Kolkata 4) Ahmedabad

68. In Maharashtra Some Revolutionary organisations where formed, Select the correct
pair from the following

— ¢ !
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1. Arya bandhav Samaj - Vardha - Nagpur
2. Chiekarclub - Pune
3. Shivaji club - Kolhapur
4. all of the above
69. Match the correct pair

Person Organisation
A. Damu Anna Tolekar 1) Hindu Seva Sangh
B. Rewaji Pandurang Chaudhari 2) Aadivasi Seva Mandal
C. Dr. Ramdev Bidwe 3) Aadivasi Seva Sangh
D. Pandurang Dhawala Sable 4) adivasi Sudhar Seva
Options
A B C D
1) 1 2 3 4
2) 1 2 4 3
3) 4 3 2 1
H 2 1 4 3

70. Dadoba Pandurang Tarkhadkar and Durgadas Machcha Ram founded “Manav Dharm
Sabha™ on 12 June 1884. Where this organisation was established
1. Mumbai 2) Surat 3) Pune 4) Badoda
71.Ais20% of B, then B is ...% of A
1) 5% 2)40%3)400% 4) 20%
72. The average age of a class was 12, if the 37 years old teachers age is included the this
average increases by 13, then how many students will be there in the class
1) 24 2)35 3) 40 4) 20
73. Which number will be there at the question tag position
3,4,7,7,13,13,21,22,31,34,?
1)43  2)36 3) 44 4) 41
74. See the statements
A. Some shops are Laboratories
B. all Laboratories are temples
Conclusion
I) some temples are shops 11) not a single shop is Temple
A. Only conclusion | is correct
B. only conclusion 11 is correct
C. Both Conclusion I and Il are correct
D. Both Conclusion I and 11 are incorrect
75. Hotel is at the east of my office. my office is South to the shop .School is a North to the
hotel .The distance between school and hotel is same As a distance between Office in
shop. what will the direction of school to shop.
1) East south 2) Northwest 3) Southwest 4) North East

— N \
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76. what will the number at question tag position

12 . 30 4 9
4 @ 6 3 @25 . @ 4 3 @ 6
8 5 8 4
1) 2 2)3 3)4 4) 6
78. Clock watch set at 5:00 a.m. clock lag behind by 16 minutes in 24 hours. On 4th days
night when clock shows 10:00 p.m. What would be the actual time
1) 12.00 pm 2) 1:00 p.m, 3) 1:00 a.m. 4) 11:00 p.m.
79. There are 40 students in a class, small Suraj is 7th in front of big Suraj. If big Suraj Is
18th from the last Then what will be the number of small Suraj from starting
1) 14th 2) 15th 3) 16 th 4) 17 th
80. If an object is a sold at 75 rupees we get a percent profit equal to its purchase price. Is
that object is a sold at 85 rupees what would be the percentage profit
1) 20 2) 70 3) 50 4) 30
81. If equal currency of Rs35, Rs. 20 and Rs.50 are taken, how many number of each type
of currency will be there in 7500 Rs.
1) 25 2) 50 3)75 4) 100 .
82. If the digits from 1 to 9 are arranged in special manner in a square then
horizontal, vertical and diagonal addition is same.

What will the digits at the corners?

1) 1,3,7,9 2)7,4,3,6 3)2,4,8,6 4)2,3,,6,9
83.1f +is -, /is+, -is x, x is/ then
12x6/42-7=?
1) 291 2) 293 3) -2934) 54
84. If 40 people dig 30 pits in 60 days. How many days will be required for 20 peoples to
dig 15 pits
1) 60 2) 30 3) 50 4) 70

85. The ratio of A and B’s age is 4:7 and b and C age ratio is 3:4, then what will be the age
ratioof A and C
1) 3:7 2)7:3 3)9:14 4) 14:9
86. Identify the correct statement
A. Fline suggested the thermal concept of Mansoon origin

B. Halle put forth the movement concept of Mansoon origin
Options
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1. Onlya) 2) onlyb)  3) botharecorrect 4) both are incorrect
87. Match the correct pair

Project State
A. Tava Yojana 1. Telangana
B. Pochampad project 2. Madhya Pradesh
C. Almatti project 3. Kerala
D. ldukki project 4. Karnataka
A B C D
n 1 2 3 4
2) 1 2 4 3
3) 2 1 4 3

4) 2 1 3 4
88. The “Bonalu » hindu festival related to Mahakali is celebrated in which state

1. Karnataka 2) Telangana 3) Andhra Pradesh 4) Tamilnadu
89. The “Bonalu ™ hindu festival related to Mahakali is celebrated in which state
1. Karnataka 2) Telangana 3) Andhra Pradesh 4) Tamilnadu

90. Identify correct statement
A. Karnataka seashore is called Karwar
B. Kerala sea shore is called Malabar
1. onlya 2) only be  3) both are incorrect 4) both are correct
91. A) Narsi - located on Painganga river bank and A birthplace of saint Namdev
B) Hingoli - situated on Kayadhu river bank and district head quarter

1) Onlya 2) only b 3) aand b 4) All are incorrect
92. In which district Archean rocks are found
1) Bhandara, Gadachiroli, Gondia 2) Gachiroli, Sindhudurg, Palghar
3) Chandrapur, Gachiroli, Sindhudurg 4) Akola, Amravati, Bhandara

93. A) Valati : A low level region adjacentto Konkan Sea shore
B) Khalati : aland between Sahyadri and Arabian sea
1) Both A and B are correct  2) both A and B are wrong
3) Aiscorrect and B is wrong 4) B is correct and A is wrong
94, Find the correct match

1) Pasrani Ghat - Karad to Chiplun 2) Amba Ghat - Wai to Pachgani
3) Kumbharli Ghat - Kolhapur to Pune 4) Warandha Ghat - Pune to Mahad
95. ....isthe biggest river in Maharashtra flowing to south

1. Vainganga 2) Painganga 3) Wardha 4) None of those
96. Depending upon the pure iron, arrange the ore in descending order
1. Hematite - Limonite - Magnetite - Siderite
2. Magnetite - Limonite - Hematite - Siderite
3. Magnetite - Siderite - Limonite - Hematite
4.

Magnetite - Hematite - Limonite - - Siderite —
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97. Identify correct statement

a. In Maharashtra rice farming is there where rainfall is 200 Cm
b. In Maharashtra rice is planted by traditional method
Options
1) OnlyA 2) onlyB 3) Both A and B are wrong  4) Both Aand b is
correct

98. Sprinklerirrigation, a new method of irrigation came from...

1. Japan 2) America 3) Isracl 4) South Korea
99. The raining in Konkan and west slope of Sahyadri is called...

1. Mausami rainfall  2) orographic rainfall 3) Avart rainfall
4) Pratyavart rainfall

100.

a.

Identify incorrect statement

mountain soil is formed from rocks and stones

b. Mountain side is present in Himalayan region and East and West Ghat of Satpuda
c. mountain soil is redish in colour

d. Mountain seil is mineral deficient
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J. K. Jadhav Arts, Commerce and Science College, Vaijapur
Competitive Examination
Test Paper

Name of student .....o.ovvvvvveviiiirieinennininnn,
Date: Total Marks:
Time: Marks Obtained:
Note:

1) All questions are compulsory
2) Each question carries one mark
3) There will be no negative marking system

1. Match the correct pair
I Section (wind) II Section (Region)

Chinook 1) Alpps mountain in Europe
Fon 2) South Europe to Mediterranean Sea
Loo 3) Plain region of North India
Mistral 4) Rocky mountain in North America
Options
A B C D
1) 4 1 2 3
2) 3 2 1 4
3) 2 3 4 1
4) 1 4 2 3
2. Out of the following whichfactor affects the weather of Maharashtra
A) Geographical location and Latitude breadth B) Monsoon winds  C) Natural
arrangement D) Wind position in summer
Options
1) A&B 2)B&C 3)A,B,&C 4) All of the above

3. Nandurmadhyameshwar Sanctuary is located in which of the district
A) Gachiroli B) Amravati 3) Yavatmal 4) Nashik
4. A) Out of the total area OF Maharashtra the mineral wealth is found only in 22% area
B) Most of the mineral wealth is found in Konkan region of Maharashtra
Options
1) AandBiscorrect  2) A iscorrect & B is wrong
3) A iswrong, B is correct 4) A & B are wrong
5. Asper 2011 census the What is the urban population in Maharashtra
1) 45.2% 2)35.2% 3) 54.8% 4) 53.8%
6. Match the correct pair
I'Section (District) I Section ( waterfall)
A) Ahmednagar 1) Sautada waterfall
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B) Amravati 2) Sahastrakund waterfall

C) Beed 3) Randha Waterfall
D) Yavatmal 4) Muktagiri waterfall
Options
A B C D
1) 2 3 4 1
2) 1 4 3 2
3) 3 4 1 2

4) 4 2 3 ]
7. In which district of Maharashtra Pond irrigation is maximum
1) Chandrapur 2) Pune 3) Gondia

8. A) Koyna hydroelectric project is present on Koyna river the tributary of Krishna and
the reservoir is known as ‘Shiv Sagar’

B) What are Queen are you are going towards east is turned to West and a big electric
project is established at Pofali inechipunTahsil
Options
1) A and B are correct
correct

2) A iscorrect & B is wrong
4) A & B are wrong
9. Following mountain peaks in decreasing order
A) Nanda Devi
Parvat
Options
1) B,AE,C,D 2)B,E,A,D,F
10. Which of the following statement is incorrect
1) Kolhapur - small engineering industry 2) Ballarpur -
3) Solapur - power loom and Handloom industry
11. In which district of South Maharashtra Iron ore is found
1) Sindhudurg 2) Satara 3) Solapur
12. How Mabharashtra plateau is formed
1) Land projection

3) A iswrong, B is

B) kanchanganga  C) Gangotri D) Badrinath E) Nanga

3)B,E,A,C,D D)A,B,E,C,D

paper production industry

4) Palghar

2) Accumulation 3) Earthquake
4) Volcanic eruption
13. Geographical area of India is ... square kilometre
1) 3287469 SqKm 2) 3387469 Sq Km 3) 3290264 sq Km  4) 3539712 Sq

Km

14. The biggest thermal power plant is located in which district of Maharashtra
1) Nagpur 2) Chandrapur 3) Nashik

4) Jalgaon
I5. 15 match the correct pair

I Section (Jyotirling)
Parli-Vaijnath
Bheemashankar

I Section (District)
1) Aurangabad
2) Hingoli
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Ghrishneshwar 3) Beed
OndhaNagnath 4) Punc
Options
A B
1) 4 3
2) 3 4
3) 3 2
4) 4 1 3 2
16. As per C. Rangarajan committee report which of the following state have the greatest
proportion of poverty in 2011 - 12
1) Chhattisgarh 2) Odisa 3) Madhya Pradesh 4) Jharkhand
17. A) Sixth five year plan is called Rolling plan
B) rolling plan concept was suggested by professor Gunnar Mirdal
C) In India ruling plan was prepared by which president of Planning Commission
professor D. T. Lakkadwala
Find out the correct statement from above
1) OnlyB,C 2)Only A, B 3)Only B 4) None of above
I8. Sustainable Development Goals where replaced by Millennium Development Goals.
What is a tenure of Sustainable Development Goals
1) 2015-2030 2)2020-2035 3) 2010-2025 4) None of above

19. While preparing Human Development Index which of the following parameters are
considered

C D
2 I
1 2
| 4

A) Gross National Income (GNI) B) Lifespan C) Average School years of
adults above 25 years D) Expected School years of students above 18 years
Options |
1) All except A 2) all except C 3) all except B 4) All of the above

20. A) World Bank declares the criteria to classify the various countries in various income
categories on Ist July
B) This is done on the basis of Gross national Income
C) This classification is done by the World bank every year in world developed report
D) India is placed in your medium income group country
From the Above statements select the incorrect statement
1) OnlyA 2) OnlyB,C 3) OnlyB,C,D D) None of the above
21. National income committee was established on ..... under the presidenship of ...
1) 14th August 1950: V. K. R. V. Rao
2) 2nd September1951: D. R. Gadgil
3) 4th August 1949: P. C. Mahalobanis
4) 5 th March 1949:; R. C. Desai
22. Select the correct option about imported items in 2018-19 by India
A) Food and related objects B) Fuel C) transport D) Capital items
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Options
1) OnlyD, A, C 2) onlyB,D, A JonlyB,D,C 4)Only D, B, C
23. Arrange the proper sequence of Indian rupee about convertibility of rupce
A) S N. Tarapore Committec 1 B) Application of Liberalized Exchange Rate
Management System C) S N. Tarapore Committee 2 D) complete
convertibility of rupec on saving account  E) Rupee complete convertible on
current account
Options
1) B,E,D,A,C 2)AE,C,D,B 3)A,B,,C,D,E 4)E,A,D,C,B
24. A) On 19 july 1969, 14 banks were nationalised with deposits were less than 50 Crore
B) Six banks were nationalised on 15th April 1980 whose deposits were less than 200
Crore
Select the correct option from above

1) Only A 2) only B 3) BothA&B 4) None of the above
25. In which district the literacy is the least in Maharashtra
1) Jalana 2) Nandurbar 3) Gadchiroli 4) Beed

26. As per Fiscal Responsibility and Budget Management Act 2003, what limitations were
placed on central government
A. To bring primary deficit up to 4% by March 2009
B. To bring fiscal deficit of 50% by March 2009
C. To bring budgetary deficit to 0 by 2009
D. To bring the revenue deficit up to zero by March 2009
Options
1) OnlyB,D 2)Only A, D 3)A,B,C,D 4)Only A, C
27. The central and state government budget is presented by the constitutional articles
respectively
1) 202,208  2)202,112 3) 110,212 4)202, 110
28. As per the budget of year 2020-21 what is tax free income limit
1) 2.5 lac 2) 5lac 3)7.5 lac 4) 10 lac
29. A) Mr. K. Sing Is the president of 15th Finance Commission
B) The tenure of commission is2020 to 2025
C) Commission was established 27th November 2017
D) There are two part time members in this Commission
Choose the correct from the above statements

1) A,B,C 2)A,B,D 3)A,B,C,D 4) only A, D
30. Where is the headquarter of World Trade Organisation
1) Washington D. C. 2) Singapore 3) Geneva  4) Nairobi
31. 31 In an equation
r;_': = 55thenwhat is value of m
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13 )6 31 48
32.1f Radha walks at a speed of 25 feets per minute and if her feet distance is | meter. what
is the time required to cover a distance of 1/2 km
1) 12 minute 2) 9 minute  3) 14 minute 4) 24 minutes
33. Two statements and their conclusions are given below , assuming both statements
correctc an conclusion be emerge
Statement: A) all men are tiger
B) All foxes are tiger
Conclusion: A) All male are foxes
B) Some Axis are men
Options
1) Only conclusion A emerge 2) only conclusion B emerge3) Both A and B
conclusion do not emerges 4) Both A and B conclusion emerges
34. The ratio of two numbers is 3:5 first number is increased by 10% and second by 20%
what will be the ratio of two new numbers

1) 11:20 2) 20:11 3)22:40 4) 40:22
35. Complete the sequencel, 9, 25, 36, ?

1)40 2) 48 3)54 4) 58
36. If A= 3/c B,then A: B =7

1) 4:6 2) 3:5 3)3:2 4) None of above

37. 150 meter long railway crosses the 450 meter platform in 20 second then what is the
speed of railway
1) 108 km/hr 2) 106 m/s  3) 72km/hr  4) 156 m/s
38.If ASB meaning is A is father of B
A#B meaning is A is daughter of B
A*B meaning is A is sister of B
A@B meaning is A is brother of B
Out of which option it will be clear that M is wife of Q
1) QSRA#T@M 2)Q3@#RM 3)QSR@T*M 4) None of the above
39. Complete the following series
-mon - - NMo - Mo - monm - n
1) nmonno 2) moonoo  3) oooooo 4)onmomm
40. From the following series choose the correct option
ACPJ:ZXUQ::RGJH:?
1) BDYU  2) VHRP 3) VTGO 4)VSON
41.In a coding language if PROJECTOR is written as ORPCEJROT then how can be
PERTROGNI CAN BE WRITTEN IS SAME LANGUAGE
1) REPORTING 2) REPORTERS 3) PROPORTION  4) RESTURANT
42. From the below diagram which is the opposite colour to yellow
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1) Black 2) Indigo 3) Blue 4) Yellow
43. Six students are seated in a row, R is in between K and V, V is adjacent to M, M is
adjacent to B then who is adjacent to V

1) P&Q 2)B&M 3)Q&R 4 M &k
44. Match the pairs
I Section I1 Section
A. Habeas Corpus 1) We order
B. Mandamus 2) Physical presence
C. Prohibition 3) This is to certify
D. Certiorari 4) prohibition
Options
A B C D
1) 4 I 2 3
2) 2 4 1 3
3) 3 4 1 2
4) 2 3 4 1

45. Identify the only designation related to oath In constitution
A. President B) Vice president  3) Prime Minister D) Minister
E. Chancellor F) Chiefminister ~ G) Auditor General
Options
1) Allabove 2) Only A,B,F,G 3)OnlyA,B,C,D 4)Only A,BE
46. What is the tenure of prime minister decided by the constitution
1) Syears 2) S yearsand 6 months 3) not a decided 4) 7 years
47. ‘Sink combinely and Survive combinely’ this description is about
1) Prime Minister and Central Cabinet 2) Chief Minister and state cabinet
3) Prime Minister and Chief Minister 4) Central Cabinet and State Cabinet
48. A Public bill is presented by the Minister in cabinet
B) bill is presented by informing one month in advance
C) If the bill is rejected by the house it may leads to the resignation of government
Which statement of the above correct

1) OnlyA 2) Only A& B 3) Only A& C 4)A,B&C
49. Who appoints the District Judge
I) judge of high court 2) Juri of High Court 3) chancellor

4) Chief Minister
50. Find out the incorrect statements
A. Single person cannot be appointed as a chancellor or two or more States
B. Chancellor do not working under the control of Central Government
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C. American model Is selected for the appointment of chancellor
D. Incasethe death of chancellor, high court chief justice can be appointe
temporary Chancellor
Options
1) A&B 2)A.B,C  3)A&C 4)A.C.D
S1. Select the correct statement about Legislative Council
A. Legislative Council was present in Assam before independence
B. In Maharashtra Legislative Council was formed in 1937
C. Legislative Council of West Bengal and Punjab was established in 1969 2nd 1970
D. Legislative Council was suspended in Maharashtra during 1939 t0 1945
Options
1) B&D 2)B.C,D 3)A,B.D  4)All of the zbove
52. A) In public estimate committee membership is not given to the members of upper
house of the Parliament
B) This committee is not called thrift committee
C) Minister can be elected on this committee
D) The total committee members of this committee is 22
Find out in correct statement

I) OnlyC 2) OnlyB&C 3) Allexcept A 4) All of zbove
53. From what the parliament is constituted

1) President B) LokSabha 3) RajyaSabha 4) Czbinet ministry
Options

1) OnlyB&C 2) OnlyA,B&C 3) OnlyB,C&D 4) All of zbove
54. For upper house of parliament the open voting was accepted instead of confidentizl
voting :
1) 2001 2) 2002 3) 2004 4) 2003
55. Who decides the number of judges in Supreme Court and other judges
1) Chief justice 2) President 3) Parliament 4) President in
consultation which justice
56. Who controls working of Supreme Court
1) President 2) Control Committee 2) Itis explained by constitution
4) Supreme Court with the advice of president
57. Match the correct pair about Nobel award
Field Person
A. Literature 1) William jiKelln, GrelealSemenja
B. Chemistry  2) James pebbles, Michel Mayor
C. Physics 3) Olga Tokarshook, Peter Handki
D. Medicine 4) John B Goodenough
A B C D
1) 3 4 2 I




2) 3 2 4 |
3) 4 3 1 2
4) 4 1 3 2
58. What are the incorrect statements about chief justice Sharadbobade
A. Heis the 46th chief justice
B. He will get 15 months tenure from 16th Novemnber 2019
C. He was the 4th fromMaharashtra 1o become Chicf Justice
D. Before the appointment in  supreme court he was the chief justice in Madbya
Pradesh
Options
1) C&D 2) Only B JB&C Hpaec
59. What is the incorrect statement about Chief Information Commissioner (CIC) and state
Chief Information Commissioner (SCIC)
A. Their tenure is 3 years or 65 years of age ( which is earlier)
B. The payment of CIC is 2.5 lakhs and of SCIC is 2.25 lac
Options
1) OnlyA&B 2)Only B 3)Only A 4) None of the zbove
60. Which statement is correct about e Panchayat award of 2019
A. Mabharashtra got the first e Panchayat award
B. This time Maharashtra got 1 19 awards in three categories
Options
1) A&B 2)Only A 3)Only B 4) None of the above
61. Out of The following Whose birth centenary year is 2019
1) G.D.Mandgulkar2) AacharyaAtre 3) SudhirPhadke
4) P. L. Deshpande
62. Which statement is correct about tiger census of 2018
A. As per 2018 report the number of tigers in country is 2967
B. The largest number Tigers are found in Kamataka state
C. The number of tigers in Maharashtra is 312
D. As per report the number of Tiger has been increased by 16% but the residence
decreased by 22%
E. To achieve the target of doubling the number of tiger by 2022 is already achieved
for years before by India
Options
1) All of above 2)A,C,D,E 3)A,B,&C 4)B,C,D, & E
63. Which is the incorrect statement about National Population register
A. Compulsory registration for everyone residing 6 months in country
B. No need of any document for NRP
C. The 21 types of information of a person will be collected for NRP
D. Kerala and PaschimBangal state opposes to NRP
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Options

1) C&D 2)A,B&C  3)Only A 4) None of the above
64. Which statc legally continues reservation in promotion
1) Tamil Nadu 2) Telangana 3) Himachal Pradesh

4) Kamataka
65. Which is the incorrect statement of NitiAayog about clectric vehicle policy
A. Only three wheelers will be sold after 31st March 2023
B. Intwo wheeler only bikes of 150 cc will be sold afler 315t March 2023
Options
1) Only A 2)A&B 3) Only B  4) None of the above
66. For Gaganyan mission India had donc the agreement with which of the following
countries
A. European Union B) America C) France D) Russia
Options
1) OnlyB 2)C&D 3) OnlyD 4)A&C
67. Firstly in which state the law against mob lynching was passed
1) Manipur 2) Rajasthan 3) Tamilnadu 4) Kerala
68. A) In © AbMeri Bari® Campaign 60 girls of Jharkhand will do mass awakening in India
B) They are going to do mass awakening about The facilities not getting to the girls in
puberty age
Which is the correct statement about above
1) None of the above 2) Only B 3)A&B 4) only A
69. ‘Theyyam’ dance is from which state of India
1) Kerala 2) Tamil Nadu 3) Andhra Pradesh  4) Kamataka
70. Match the pairs of a person and the appointment
I Section I1 Section
A. Mukundanaravane 1) CBI
B. Arvind Kumar 2) Army Chief
C. Samant Kumar Goyal 3) Intelligence Bureau
D. Rishi Kumar Shukla 4) Research and Analysis Wing

Options
A B C D
1) 2 4 3 1
2) 2 3 4 1
3) 3 4 I 2
4) 3 1 4 2

71. A) Momentum is the product of mass and velocity
B) Buoyant force is the force that pushes the object in liquid in upward direction
C) Acceleration is rate at which velocity changes with time, in terms of both speed and

direction
Prircipal

J.K.Jnd_hav Arts, Comm.& Science

T3, Vaiiapur [ Cess 14



IFrom the above statements identify the correct statement

1) OnlyB  2)A,C 3) Only C 4HADB,C
72. Force acting towards the centre is called. ..

I) Centripetal force 2) Centrifugal force 3) Central force 4) None of above
73. Read the following sentences

A) Prokaryotic living organism are unicellular

B) Eukaryotic living organism arc unicellular or multicellular

C) Fungi Comes under unicellular Category

D) Plants and animals comes under multi Cellular category
Find out the correct statement from the above

1) All of above 2)only A, B, C 3) onlyA,C,D 4) A, B,D

74. Match the correct pair

I Section 11 Section
A. Karl Linius 1) Monera, Protista plants and animals
B. Hekel 2) Prokaryotic & Eukaryotic
C. Chatan 3) plants and animals
D. Kopland 4) Prolista; animals and plants
Options
A B C D
1) 3 4 2 1
2) 1 2 3 4
3)4 3 1 2
4)2 4 3 1

75. 75 American ecologist Robert Harding Vitakar Classified the animals in five categories.
Which of the following option do not come under his category
A) Monera B) Protista  C) Fungi D) Plants E) animals F) Algae
Options
1) OnlyB 2) OnlyA 3)OnlyE 4) Only D
76. From the Following options find out the category
A. In this category all are unicellular
B. All bacteria comes in this category
C. Blue and green algae is also included
D. They are autotrophic or parasitic
Options
1) Algae 2) Fungi 3) Protista 4) Monera
77. Out of the following which is not the characteristic of virus
A. Generally they are not considered as a living or are boundary between living and
non- living
B. They can be seen only by electronic microscope
C. Virus causes various diseases to plants and animals
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D. Reprodoction of vires takes place by sexual method or by division
Options
I) A&C 2) OalyB  3) OnlyD  4) None of above
78. [dentify the comrect statements ’
A. When the temperature of solid increases it is converted into liquid and it is called

Melting
B. When temperature of liquids decrease it is converted into solid and it is called
fusion
Opgions
1) Onh A 2)Only B 3)Both A & B are correct 4) Both A

& B are incomrect
79. ldentify the correct option
A. Lossof appetite  B) headache, vomiting
wlIF
Above are the symptoms of which disease
1) Typhoid 2) Jaundice 3) Dengue
80. A) Number of electrons and protons in atom
B) The sum of protons and neutrons in nucleus of atom
C) The sum of protoas, electrons and neutrons

Which of the above statement is a sufficient to calculate atomic weight
2) Only B 35)Only C 4) All of the above

C) diarthoea D) temperature up

4) Chikungunya

1) Only A
81. Ccholera, Typhoid, Conjunctivitis, Influenza these comes under which infectious
diseases category
1) Epidemic disease 2) Contact disease  3) All of the above 4) None of the
above
82. In rainbow the maximum and minimum wavelength of the colour is... respectively
I) Red, Violet 2) Blue, Red 3) Violet, Indigo 4) Indigo, Red

83. Which statement is correct about metal
A. Metals are conductors
B. Metals are ductile and malleable
C. The surface of metal is Shiny

Options
1) Only A,C 2)A,B,C 3)Only C 4) None of the above

84.84 A) alpharaysis positively charged
B) Gama rays is negatively charged
C) Beta rays is neutral
D) Three rays are produced from nucleus
Find out the incorrect statement
1) OnlyD 2)OnlyB,C 3)A,B,D 4)B,C,D
85. The largest gland in human body is...
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U A ) 1
K7, Wihich of the foltowlng soelal and rellglous moments whero established In Mumbal
1 Pavamhansmandall, RahoubhalMaztdasanSubhin
2y PrarthonnSamun) nnd AvyaSuma| -
N Indlan wocks] conterence nnd soclal service Lengue
D) All ol the nbove

B8, Who |y known s the Pandnl of Marathl
1y WhaubDa)l Lod 2) Vishinu ShastelChipunkar 3) Dadoba'Tarkhadkar

89, *God had not ereated the man but man had erented the God* Who stated the suid
statement
1) V. R Shinde 2) Rafo Ram Mohan'Roy — 3) Swaml Vivekanand

4) Vishinu ShastelChipunkar
00, WHh what purpose the *"MitaMelu® organisation was established in 1899 at Nashik
1) ‘To celebrate bleth annlversaey of' ChhatrapatiShivajiMahary)
2) To aggregate revolutionarles
1) To celebrate Ganesh Chaturthl
4)  None ol the nbove
91, Match the pale about 1857 revolt

I Sectlon Il Sectlon
A, Liyaknt All 1) Gwallor
. Tatya Tope 2) Falzabad

C. Muaulvinhmadollah — 3) Allahabod
D, Ranl Lakshmlbal — 4) Jhanst

Optiony
A 1} C )]
) 2 3 | q
2) 1 3 2 I
o 2 3 1
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4 3 2 1 4
92. Which ladies were present at second round table conference in 1932
A. Anni Besant 2) VijayalakshmiPandit 3) SuchetaKriplani  4) Sarojini Naidu
Options
1) OnlyA.D2)Only B 3)OnlyD  4)Only A,B,D
93, Mahatma Jyotibafuleine 1874 founded the branch of satyashodhakSamaj in Mumbai on
the request of....
1) Meghajilokhande 2) KrishnaraoBhalekar 3) R. P. Paranjape
4) DinkarKarve
4. Who was the Maratha's general of Army British Maratha battle
1) VishwasraoPeshwa 2) BapuGokhale 3) Yashwantraotlolkar
4) GangadharShastri
95, In British period in which region ‘Rayatwari” system of land revenue was started
1) Mumbai, Madras 2) Delhi. Himachal 3) Kanpur  4) Kolkata, Nagpur
96. What was the purpose of *NishkamKarm Math’
A. Toserve women  B) Toserve untouchables  C) To serve blind and physically
challenged persons
Options
1) A.B.C 2) Only A 3)A,C 4)A, B
97. Read the statements and identify the name of leader
A. He was against partition
B. He was recognised as KhaFakra -e- Afghan
C. He never supported Muslim League thought
D. Got the Bharat Ratna in 1987
Options
1) BadruddinTaiyabji 2) Khan Abdul Gaffar Khan 3) Syed Ahmad
4) None of the above
93. In 1946 the national congress session was held at ... and..... was the president of the
session
1) Ramgarh., MaulanaAbulKalam Azad
2) Jaipur, B. pattamisitaramaiah
3) Meerut, Aacharyal. B. Krupalani
4) Haripur, Subhash Chandra Bose
09. Which was the mouthpiece of satyashodhakSamaj
1) Dinbandhu 2) Kesari 3) Darpan  4) Prabhakar
100. Which British prime minister declared that England will leave India before 1st June
1948
1) Ramsey McDonald 2) Clement Attee  3) Winstan Churchill
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